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1. Given an integer n and numbers «;, §;, v; for j = 1,2,...,n — 1, how would you solve for
My, Ms,..., M, from the following system?

o My + B1 Mo = 7,
aoMa + Ba M3 = 7
oan—1Mp_1+ anan = Yn—1-

Can you write an algorithm to solve it?

Vecause there dre n wnknpoms  and  n-l efl«*fz‘ms, we have the
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v Medin method
One  com tolve the C@’{?‘M lhy raatric Md‘"‘( weth M( Concidered

8 bw\ﬁ lknown , we  Can wrike the sgsém 2y
(o Mo = M-« M,

.....

C b9 “C 00 ML\ 0 - M,
vy b O O n -
O o by 0--.0 : - \
B o 0 %y o] LM '0’;\_,
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(h=1) x (w-1) 1) x 1 1) 1

Thes i the form AX= b T Solutimn § X= Ab.
Owe Can miu Mafvix_ A in MA’H@.’O 55 /{,'m" ;’kt’h*d[&-(‘»‘j A a5 an
Q‘*I)XO\—O pmahTe whote exdes «re 9. (05 .

A = zeros (n-1);
Thon we fou the coggriiends on the dragonal :
P\/ j= L n-l
Al = {5()'/'
end
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Pf Jj= lin-1

A'(J-)J’H) = O(J-tl)
od








































































































































































































































































2. How would you plot the following functions on the interval [0,3] on the same graph using
Matlab? (Use the command hold on)

si(t) = —t*+t
sot) = t2—3t+2
s3(t) = t?—5t+6.

Jeo Lechie L4 (towerd fle od )





























































































